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ENHAHERE 67 68 -1 -1.5
SHEZRE 72 96 -24 -25
SMEERE 179 160 19 11.9
N EE*$§ 27 32 -5 -15.6
St E=RE 843 781 62 7.9
SNEERE 485 451 34 75 3040
R ERE 311 247 64 25.9
SWEERE 132 149 -17 -11.4
ABERE 581 534 47 8.8
BLERE 56 39 17 43.6
—BERE 142 161 -19 -11.8
BEEFERE 145 138 7 5.1
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NINHEER 1 2 -50

SHEZRE 2 1 100
SNEZERE 2 2 0 0
/J\Eﬁ*$§ 0 3 -3 -100
SmitERE 20 13 7 53.8
SREERE 7 10 -3 -30 45
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SMAERE 0 2 -2 -100
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BLEERE 1 0 1 -
—EERE 1 0 1 -
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\INHEE 5 4 1 25

SHTERE 0 7 -7 -100
ENEERE 8 9 -1 -11.1
INGTRE 0 0 0
SmitERE 33 30 3 10
ENEERE 23 17 6 35.3 153
i)i&i*%% 20 10 10 100
SRAERE 6 6 0 0
ABEERE 32 27 5 18.5
ELERE 5 6 -1 -16.7
—2ERE 11 9 2 22.2
HEFERE 10 6 4 66.7




